/E] RAJARSHI CHHATRAPATI SHAHU COLLEGE,KOLHAPUR
Kolhapur

Question Paper

Course : 3129 - B.A. (C.B.C.S)

Subject : 71281 - PHYSICAL EDUCATION II DSC-B28§ Total Question : 25

Question No : 1
) Which of the following is strength exercise? / @t Frorar dTehe aTeauIRT TOTATH 3Me

Answer
B) Welght lifting <
A) Running 4rgoY _
) g PR C) Swimming drgoY D) Cycling B(_’
Question No : 2
Which of the following factor contain maximum calories / ety PV GTHALY Farg HOF P Pr—
nsw
KR GIGE -
A) Protein ufda B) Carbohydrate @Fmafedd  C) Fats &9y ey D) Water aroft c /
\ )Question No:3
Which of the following content is found in tobacco? / darg, 7ed Wl Frorar geF AUz Answer
g D) None of these arddY
A) Caffeine zftre B) Nicotine &= C) Bhang i ) B
ard. e
Question No : 4
Which of the following physical fitness factor is used in kho kho / @relrertldr Horar AT eTAIar e
Answer
W ALY O SAr
. D) None of these Ity
A) Flexibility wafieser B) Agility femfoveraar C) Balance Hgaa W)ﬁ B
Question No : 5
Diet should be / &R AT AT Answer
. . D) None of these amdr
A) Veg drery B) Non veg ATETERN C) Balance /Fqﬁm ;n?@r one of these c -
~Question No :76 ) -
) Which of the following is related endurance activity? / Wrdfatfr Fordt  gHeRUomh Fafra fFar sme Answer
R too D) 5000-M Run Yooo
g- 109:4.Run B) 200 M Run 30 FM.UTIU C) 400 M Run Yoo Hy.trach ::n). 7 D
Question No : 7
Speed Is depends upon / A FAE HTELT IHAT Answer
A) Stride of the length ) . D) None of these arddhr
e B) agility fenfiagmar C) Flexibility wafrsar Y A
Question No : 8 -
Walking is which type of activity / et @Yot Rrar am Answer
D) None of these amdfr
A) Anaerobic 3@ fa®w  B) Aerobic Tfas C) Mix faw Fn)ﬁ - B
Question No : 9
Ability to overcome against resistance means / JUTedT favg WIS 7w W@ FROUTS Answer
A) Agllity femfr@ar B) Endurance g#HeRaoTm C) Strength amhg D) Flexibility @afR&ar ¢
Question No : 10 g
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Question No : 20

The principle hormone in female is / #ftwmAE ATY IAET BT

Answer
A) Testosterone )
. B) Estrogen s C) Thyroid amRtés :;rNone of these amddr
Question No : 21 -

The ability to do 50 Squats without weight is an example of / gsaRET Yo FFT FROY T FUATY IETEOT
R

Answer

A) Muscular strength  B) Muscuiar endurance

: C) Flexibility waR ggﬁNone of these arAHT B
Question No : 22 4
Percentage of body fat is more in / AR TET TATOT FOTALY FFT HHS Answer
A) Male g9 B) Female Hi¥ar C) transgender =TT D) None of these & s

7 15 A

Question No : 23
The vitamin necessary for coagulation of blood is / T INGUATATE! HIUTAT HaerHcardy IS I/ Answer

A) VitB € Sf@a@cd B) Vit C & Sfiaaded C)Viy<$sna?mar D) Vit E § Sfraawca c
Question No : 24 ) f

Which organ is adversely affected by alcohol? / ar&ar QrfRT=AT RUTCT AT agée TROTHA Bar Answer
A) Kidney #ETE B) Liver I&hd C) Heart ged D) Lung ®FRHE B
Question No : 25 i
Who gives anticipatory theory / 9d @ariar faia Frofy Az Answer
B) Harbart Spensor &Wd¢ . D) None of these ITddr
2 C) Stenale holl ®aa & i A

A) Karlgrus &Toia 5= ) .
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